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TRI-CHORD-BASED

∑ ∑

Trichord	0,1 ,2	
(motive: 	1 ,0,2)

∑
1
RK	1 -12:
2 3 4 5 6 7 8 9 10 11 12

∑
1

GROUPS	of	5:

2 3 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12

∑ ∑

5-rotationer	etc	på	samtlige	sym	row	familier
early	october	2018 JLA

2018	-	to	be	modified
and	expanded	on

& ∑ ∑
Trichord	0,1 ,3	
(motive: 	1 ,0,3)

∑ ∑ ∑ ∑

&
## ∑ ∑

Trichord	0,1 ,4
(motive: 	0,1 ,4)

∑ ∑ ∑ ∑

& ∑ ∑
Trichord	0,1 ,5
(motive: 	5,0,1 )

∑ ∑ ∑ ∑

&
## ∑ ∑

Trichord	0,1 ,6
(motive: 	I : 	6,1 ,0)

∑ ∑ ∑ ∑

&
## ∑ ∑

Trichord	0,2,4	
(motive: 	2,4,0)

∑ ∑ ∑ ∑

& ∑& ∑
Trichord	0,2,5	
(motive: 	2,5,0)

∑ ∑ ∑ ∑

? ∑& ∑

Trichord	0,2,6
(motive: 	0,2,6)

∑ ∑ ∑ ∑

? ∑& ∑
Trichord	0,2,7
(motive: 	2,0,7)

∑ ∑ ∑ ∑

& ∑& ∑
Trichord	0,3,6	(motive: 	3,0,6)
	-	not	compatible	w	100%	deriv	R

∑ ∑ ∑ ∑

? ∑& ∑

Trichord	0,3,7
(motive	3,7,0)

∑ ∑ ∑ ∑

& ∑ ∑
Trichord	0,4,8

∑ ∑ ∑ ∑

&
TETRACHORD-BASED

∑ ∑
Tetrachord	0-1 -2-3

∑ ∑ ∑ ∑

& ∑ ∑
tetrachord	0,1 ,2,7

∑ ∑ ∑ ∑

& ∑ ∑
Tetrachord	0,1 ,3,6

∑ ∑ ∑ ∑

& ∑ ∑
Tetrachord	0-1 -6-7

∑ ∑ ∑ ∑

& ∑ ∑
Tetrachord	0-2-3-5

∑ ∑ ∑ ∑

& ∑ ∑
Tetrachord	0-2-5-7

∑ ∑ ∑ ∑

& ∑ ∑
Tetrachord	0,3,6,9

∑ ∑ ∑ ∑
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